11/1/21, 7:48 AM

ClassMarkerv/

Tests Edit Test

ClassMarker - Manage Test

O & &

Links

' Primary 6 Science (Prelim) - MGS (YO0) ~

Add Questions Assign

‘ € Duplicate

‘ & Print ‘ ‘ @ Delete

Test Introduction

+ Add Introduction

59 Questions (29 Points)

Test Questions 0 Test Assignments

Settings

&) Assign Test

Question Bank: 12,655 Questions @

Question 1

Liwing things

Primary 6 Science » Primary 6 Science (Prelim)

Tha classification chert shows how some fving things can be clssdied,

A et |
[] [
Group A EFM B | | 'Eirqup 0

| A Group D
Make thaoir Fead on Hawe oddheg . SO
Can be
oeen foad | chewd ar dving divided into anty under &
GhjanEms threa parta MiSheS e pe

Which of the following can be placed in Groupe A, B, C and D respectlvaly?

- Group A GroupB | Group G
msecis glants Bactenia
(2} | Howering plants fung bacteria
3} norfowarng | fungi insiects |
N plants
(| ren-floer bhmchens
|l plants i o o

Question Type: Multiple Choice
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air pump
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v A 1

B. 2

C. 3

D. 4

Multiple Choice

No

Tue 26th Oct 2021

N/A

29,458,052
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The diagram balow shaws an air pump altached o a defialed Iyre by & luba,

~ luba
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Shucheng saaled 4 slmdar pietes of braad Inlo an Srghl bag each and placad
hem wder diffaren conc@ions & shoven Delow, The braad in Bag Y wee
1oasted hedore being samled.

Lacation Dark cupboand Leeatian: By e wiridow

| —————

m&r ﬁ'{a%&fﬁ Y _mwma
Bag W Bag X
M A Locatior: By e window
R ﬁ'fﬂu e prinikled 10
e o ke
Bag ¥ Bag T

Withich of the falioedng cormctly Shiws the aim of P ceaparimen tased oo he
haps thal he has chosen for comparksan?

|

| Bags Aim af pxpariment
(1) | WandX | To find out ¥ air is required for moud 1o grow |
(21| WandZ | Tofind cul # ight is required for moule 4o grow
31| Rand¥ | Tolfed out i moisbue i sequived for moud ko prow
(41| YandZ | Tofid oulif warmih is required far mould to grow
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The disgrams below show parts of the reproductive systam ina plant and in a

pant reproductive system hurman reproductive system
Some sfudants made the folowing statements shown in the table bekow,

Student | Statement
Angy Fertilisation takes place ot R, X and W.
Janzlls © and W produce reproductive oells_

Asmail | Blath P and ¥ receive the famala reproductive oolis, |

Whizh of the shudent{s) ls'sre cormact?

v" A. Janelle only
B. Andy and Ismail only
C. Janelle and Ismail only

D. Andy, Janelle and Ismail

Question Type: Multiple Choice
Randomize Answers: No
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Last Modified: N/A
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The classification table below shows how some animats are classified,
| Animads |
) ]

Doas mot go through pan | | Goes thiough parl of | | M2 ymphstage |
[ of ita ife cycle in water | | s life cycla in water i &8 i cycla

Which of tha fallowing best repreeent J, B, W and X7

d K W X
1| Has a:i-.ﬂ.l;.gt We | Has o 4-stagalde | beslle | grasshopper
Gy cycie
(21| Haea d-slagelife | Haza 3stageife | mosguilo cockroach
CyCe oyt |
(3} | Young resembles | Young does not et cockmnch
T m:g ;M resembile he adul
oas not | Young resembles | mosguilo beetle
resemibls the adull the adul
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A 1
v B. 2
C. 3
D. 4
Question Type: Multiple Choice
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Samy warded 5o find ol how the number ol wSng-like sireciures ol Fruk ©
affecls the Ume i takes fo reach he ground,

Frul G

Hig carried cud an sxpariment using four sobupa, W, X0 Y and Z, &nd reconded
his abearsations in the bk below,

s Mumber of wing- | Colourof | Presence of
SELUPS | jive structures fruit C wind
w | 1 | brown Yk
X 1 | hiack Yos
w 3 trlack Yaz
z 3. broem | Mo |
Yhich been sat-ups shoukl be shoose for a falr est?
A. Wand X
v ' B. WandY
C. Zand X
D. ZandY
Question Type: Multiple Choice
Randomize Answers: No
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Digestion is completed ot 0,

= e

A. AandBonly
A and C only
C. DandBonly

v ' D. DandConly

Question Type: Muiltiple Choice
Randomize Answers: No
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Question 8

ex purirTenil i shown Daeloa,

Thre diagram shiws parts of the digesihe systam.

wikesh of the following slelements era comoeol?

Digesied kxod s absorbed in G and B.
Digestive juices can be fourd in Poand R
Waler = rernoved from undigested foad at Q.

ClassMarker - Manage Test

sample was racorded in the tabls befow,

| Water sample_| Volume of gas (em-) |
| [ I 18
| [=] [
[ R E
| I D

https://www.classmarker.com/a//tests/test/?test_id=1841346
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Molly carmed cut an experiment wsing four diferent water samples, P, 0, R and
5. Using the same amount-of waler sample and water plants, she sat up the

After & houre, the wiluma of gas proeduced by the water plants in sach watar

Based on har resulta, which of tha faliowing stalements is incerrect?
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A. sample P is clearer than sample S

B. the amount of light passing through sample R is the least
C. the water plant in sample p made the most amount of food
¥ D. the rate of photosynthesis for the water plan in sample Q is higher than that in sample S
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 26th Oct 2021
Last Modified: N/A
QID#: 29,458,089

Question 9
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wWhith ane of the following diagrame shows the corvect paths taken by food and
waler as they ane transported in a plant?

Water ———=
Fogd ss===F

A.
B. !} _—
fzaf
v — [ ]
'r,“ 1r+ i
o Edy — _",-'

*

roots
v C
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Question 10

Multiple Choice
No

Tue 26th Oct 2021
N/A

29,458,199

Does it hawve (R0
& nwcleus? E | A |
{17

Doag it hawa o -
a cel wally b i

L Yes

Doss it have chiarglasts? |0 )

ra &

A A

B

CcC. C
v D. D
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Question 11

]—_gjm

Which ool is found on a plant pant that produces sugar?

Multiple Choice
No

Tue 26th Oct 2021
N/A

29,458,206
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The Bow chart below shows information on four tvoe of cells, A, B, C and D,

qg
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Mabil set up an expariment o investigate the rate of evaporation of water. He
s2l 1 a Beaker of water in $a Sclence Room and measured tha volums of
warler |efl in the beaker cver 5 pariod of time, He recordad his resulls iy the
graph bebow,

Walume

of ‘wartar

It {mi) ¥

= Tirte {min)

¥hich ona of the foliowing changes did Nabi make o hie sat-up ot point ¥ of
the graph?

A. he placed the beaker in the freezer
he poured boiling water into the beaker
v C. he switched on the fans in the science room

D. he poured the water into another beaker with a smaller opening

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Tue 26th Oct 2021

Last Modified: N/A

QID#: 29,458,215
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bis pournd 500 mi of water into two identieal beakars, P ard Q, and placed a
plart irdp beaker P 28 shown biow,

layar of oil

plant

e el S b e

Basier P Beakar

She left both baakers by 8 window in the living room and recorded tha voluma
of water left in both beakears over a fow days. Which ona of the folowing
graphs comacily shows the velume of water |eft in both beakess?

v A.
olume of
e lafl {mil)
50O Q
FI
o » Time {chaya)
B.
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winlurme of

i mbo%laﬂ irrl

MO

Q
P
i & Tirme (daps)
C.
i Wolume of
wnturthﬂ. [mik
00 F
8]
o + Time {days)
D.
olume of
waber l&H (mi}
SO0
P
(5]
0 + Thina (days)
Question Type: Multiple Choice
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Question
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Randomize Answers:

14

Multiple Choice
No

Tue 26th Oct 2021
N/A

29,458,706

s —Ameunt of water n Beakar o)

L K L

) 100 250 500

| L8 250 T 500

£33 ) 260 100

_ {4} 250 GO0 100
A 1
B. 2
C. 3
v' D. 4

ClassMarker - Manage Test

Natafia used the sel-up below o investigate the Boxibility of 3 strpe, J, I and
L, which are mada of diffieren materials,

Ehe placed stip J on hes supports and poured waler ints an empty besker until
Elip J Deril by 3 om, She repested the experiment for =iips K and L She
recorded the amount of water required to bend each siip by 3 cm and
conchuded that slrip L is the most flexible and stip K is the least Raxible,

Which of the following shows the cormect amount of water in the baaker reguired
fo band the sidps by 3 cm?

Primary 6 Science » Primary 6 Science (Prelim)
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athaniel used a bursen bamer o heat a beaker contairing a Mook of joe, He
meazured the temperature of the content in thie Besker from the start ef the
experinesd for g pericd of ime and pletted the graph below,

Tempearatise ()
3

A0 [-==ee=e--

o

4] Cic

& Tirme (rin)

mmmmlmmmmmmnmmﬂmmﬂmhmmmm
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Question 15

Multiple Choice
No

Tue 26th Oct 2021
N/A

29,458,710

liquid and gas | Nquid only | solid and liquid
{1} Cand D B A e
D B A
] riaie & & Bnd B
| {4]. neng C.D AsndB
v A 1
B. 2
C. 3
D. 4
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Janice had 150 em? of plagticing. She mewded all of #inlo a ball, placed & info
& eontaines of water and recorded the 10tal wolumie of wiaker and plasticne, Mext,
sk taok ihe ball out and rolled i inbo tas cubes bafore placing & back inso the
condinn of waler a4 shown belnw,

; [
F-
Ea

B T waler
plasticing—I " )

Which of the fliowing represents (A) the volume of water used in the
axpariment and (8) tha lokad volume of waler snd one cube of plasticine thal

Janice could record?
| By P
Volume of waker Todal vodumd of watar
fem™) and one cube of
plasticing (o)
i 450 150 N
2) 525 [ 75D
A3y 4s0 1 5e
ey 800 | 75
A 1
2
v C. 3
D. 4
Question Type: Muiltiple Choice
Randomize Answers: No
Date Added: Tue 26th Oct 2021
Last Modified: N/A
QID#: 29,458,713
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Zalina wanted to find oul H 1he amangement of bulbs affecis fhe brightress of
tha bulbs inoa circull.

I

it ljb i

Circuit & Chroull @
Which tweo gircuits should sha use to aarry oul the experimant?

A. AandBonly

https://www.classmarker.com/a//tests/test/?test_id=1841346
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v B. AandD only

C. CandBonly
D. CandD only

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Tue 26th Oct 2021

Last Modified: N/A
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Sarm usad & chew! Iester to fest the proparties of thres bars, P, 0 and R. She
recordad the reeults as shown in the fabde balow.

Bars
Obsereation
P 0 [
Dt o Bulb Gght up'? e Mo et
"Didt tha bar atirael
stoel cips? Yes Ho Ny
|

She used the following fiow charl to classify the bars based on their properies,

Bars

b o
S

Does #conduet | MO
eleciriciiy? i:'“‘

im

I= it magnetic? B

es

C

-

Wiich of the fefiowing letters can be used io reprasent bars P, 0 and R?
Bars

1)
2}
(3
i+

Mo =]
= e} ] s |

PO @me

https://www.classmarker.com/a//tests/test/?test_id=1841346 14/43


https://www.classmarker.com/a/tests/qb/manage/?test_id=1841346&question_id=29458717
https://www.classmarker.com/a/tests/qb/manage/?test_id=1841346&question_id=29458717&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1841346

11/1/21, 7:48 AM ClassMarker - Manage Test

Question Type: Multiple Choice
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QID#: 29,458,719
Question 18 Primary 6 Science » Primary 6 Science (Prelim)

Suresh poursd soual armaunt of lap water Inte 3 enllcal beakars. Ha added 7
irm cubas inlo each beakar, After that, he wrapped asch baakes with a different

numiser of identical bubble wraps of e same size.

Mumber of bubble wraps
Beaker | used to wrap the bo:
h 13 ]
B 2
| I ¥
After some time, he removed all the bubble wraps and made his obserabions
ae shown beloa.

Baakar C
Which statemant explaing Suresh's obsarvations?

H-u:ﬂ;-m'.ﬂl

A 1
v B. 2
C. 3
D. 4
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 26th Oct 2021
Last Modified: N/A
QID#: 29,458,823
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Surenh pounsd sgual armount of lapwater inle 3 Mentical beakers. Ho added T
irm ol inlo each beakar, After that, he wrapped asch beakes with a different
numizer of identical bubble wraps of e same size.

Mumber of bubble wraps
_B“'m ueed to wrap the beaker |
hy 13 )
B i
LG ¥
After some time, he removed all the bubble wraps ard made his obserabions
ae ehown beloma.

Bealer & Bagkar C
Which stetemant explaing Suresh's ohearvations™?

A. The ice cubes in beaker C gained more heat than the ice cubes in beaker B
The more bubble wraps used, the more heat is trapped to prevent the ice from melting

C. Beaker B has the least bubble wraps used so the greatest amount of heat is lost from the
ice cubes

v’ D. Beaker A has the most bubble wraps used so the ice cubes in it gained the least amount

of heat
Question Type: Muiltiple Choice
Randomize Answers: No
Date Added: Tue 26th Oct 2021
Last Modified: N/A
QID#: 29,458,938
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Juhn placéd 4 similar uncocked eggs inlo beakers, A, B, C and 0, which
confaned water of diferant volumes and temperatures as shown in the
diagrars, The eggs wers bafl inthe waler over a period of fima,

or
LA g
Basker C Beaker D

{500 md of {250 m of 100 mi of (250 mié of
water at 80°C)  waler al 00°C)  waber at 60°C)  water al 60°C)

John then cracked each egg to cbeerve how cooked it was.

Hﬂ?nn&ﬂmmmmwmmmarurhﬂwmﬂkﬁdmhm
Wwa

lzasi conked = most eooked

{1 c D
()
()
&5

m
m o| O @

| | O
m

] O ™| =

Question Type: Multiple Choice
Randomize Answers: No
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A magsuring eylinder comaning some amournt of wasker at 10°C is placed n a
neaker containing 100 ml of ol gt 70°C. The set-up was oft in the room fior
same ima.

maassrg cylinder
beaker

all at TieC

water g1 1000

Four pupila made tha folowing staterments.

Jane:  The tempersiure of water increased sfar some time s i galned
hvead from the ol

Mary:  The temperature of oil decreased after some iime as it lost haat 1o
the wiaber and sumouncngs.

Kathy: Heal is ransferred from the oil o the watar,

Wiha madas the oormect statement]s)?

A. Kathy only
B. Jane and Kathy only
C. Jane and Mary only

v' D. Jane, Mary and Kathy

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 26th Oct 2021
Last Modified: N/A
QID#: 29,458,966
Question 22 Primary 6 Science » Primary 6 Science (Prelim) 1 pt

A ball was attached o a sting and released from posftion A, It swung from
position A o O as shown balow.

At which posiian, A, B, C or D, did the ball posssss the most kinetic anengy?

A A

B

v C. C
D. D
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QID#:

Question 23

recordad.

i

car X

Multiple Choice
No

Tue 26th Oct 2021
N/A

29,458,969

a starting Hre
1

ClassMarker - Manage Test

Primary 6 Science » Primary 6 Science (Prelim)

Jenny conducted an experdment in a dak rmoom with bwo d#ferent toy cars, X
and Y. Car ¥ was first placed af the starting line a3 ehown in the diagram. Janny
turned on s swilch and Car X moved towands the finizhing line, The smount o
gkt datecied by the Bghl sersor as the ear feoved for five seconds was

—‘%—wd'-ﬂhahﬁa

é finishing line

L] light ssnsor connectad ta

o0mi

A. Aand Conly
v B. AandD only
C. BandDonly

D. CandD only

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

data logger
ﬂ;ﬂm the expetiment with Car 'Y, Her results sre shown i he 1abls
Tima [8) Amount of light detected by light sensor
(units)
Coamr ¥ Car¥
{ 2000 2000
1 3000 200D
F) 1 o 2000
3 A000 2000 =
4 2000 0 Al
5 IO 2000

Multiple Choice
No

Tue 26th Oct 2021
N/A

29,458,973

Based on Me above results, which of the following staterments are comect?

Car X fravabed faster than Car Y.

Car¥ has a baghter colour than Car X,

ar X allows mare light to pass Bwough,

Caor % reached the inishing kne at the 4% spoond.
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Question 24

N thu releasad & wooden block down & siope causing i o move front poaition
& to B as shown in Ciagrem X The graph balow shows the amount of three
differant ferms of enesgy ol e woodan biock gt position L of this skope,

v Aot
pasilion A of snangy

i polental  kinélic haat
Ll ) Ay ey

Dizcyram X

Mulhu sppled some powder on the skope ond repestad the experiment. Which
o of fiee following graphs show the @mounts of different forms of energy in the
weosden block whan i ks at pesitien L7

A.
poterdial  kinafic
BrErgy BN
v B
hiaat
BNEmy
C.
| L
patantial kinetic heat
anary My ARETEY
D.
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a)
Aol
of energy
{unitsy
potential
Question Type: Muiltiple Choice
Randomize Answers: No
Date Added: Tue 26th Oct 2021
Last Modified: N/A
QID#: 29,458,981
Question 25 Primary 6 Science » Primary 6 Science (Prelim) 1 pt

The diagram below shows the path taken by the ball trevelled when i was
kicked. 1 than ravallad 1o points A, B and © 2s shown in the disgram Bekow,

.
By
-" X, .\.1l.
.-'- i
- i
r‘ 1
-"-. " E
-.-"
Wil |
.
@

Which one of the following graphs shows the amount of aravitational fo
acting on the ball ot poinds A B and G7 P =

A.
i1
Amppunt of
graviialicnal
force [unibs) H
A B C
v B
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{2}
Aot of
fravitational
force: (units) |—| |—‘ H
48 B o
C.
)
Amourt of
gravitalianal
foece (umits) H ,_I
A B O
D. ['1;
A of
gravitational
force (Units) ]
1N
A B C
Question Type: Muiltiple Choice
Randomize Answers: No
Date Added: Tue 26th Oct 2021
Last Modified: N/A
QID#: 29,458,988
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Anna lebelled the ends of three metal bars A& B and © as shown.

E F G H J K
mekal bar A matal bar B metal bar
She brought the ends of the metal bars closae o sach obher and made some

observalions.
F and & sttracied each other
E F =l G H

F and H repelled each other

E F l#— —=|H G
E and J sttracted each other
| £ El+ 4 K |
F and J atirected esch olhar

E_rf i x

Based on her obsarvetions, which one of the following slalements i not
comect?

A. Bar B can attract bar C
Bar A and bar B are magnets
¥v' C. BarAand bar C are magnets

D. Bars A,B and C are made of magnetic materials

Question Type: Muiltiple Choice

Randomize Answers: No

Date Added: Tue 26th Oct 2021

Last Modified: N/A

QID#: 29,458,993
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L L

The picture showis & man pushing a box alang he floor,
A

g I'—“n
C

Which of the folowing co identify the amows ko e
e s rraclly Fy type of forces scting

| Gravitational force | Frictional Force |

{1)
(2}
3}
(4)

ba 1l =hle e

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 28

araph below,

Multiple Choice
No

Tue 26th Oct 2021
N/A

29,459,000

Primary 6 Science » Primary 6 Science (Prelim)

A mass was hung on 3 spring and its exlension was recorded as shown in the

Graph of sxtension of apring with d¥farert maes

Extension (cm)
O = P3 L3 & B o~ =@

20

40 BO B0
Mass (g}

The ediginal lenglh of the spring was 10 o, What was the lenth of the spring
whean a mass of 40 g was kung on i£7 ’

a1 a
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A. 4cm
8cm
C. 12cm
v' ' D. 14cm

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 26th Oct 2021
Last Modified: N/A
QID#: 29,459,004

Question 29

-

Some shadenls nwmmﬂsdadmmm, A and 2, under 8 mi

was presant
Cizjls

Parts 53 1
HNuclaisg ¥ " -

__'E'-E" marnbrans o v |
C‘r'tﬂﬂlaam Ll v v

| Cafl wall i o T
| Chioropiast ’ ,
= ]

of Cells ¥ and 77

Question Type: Essay

Date Added: Tue 26th Oct 2021
Last Modified: N/A
QID#: 29,459,027

Correctly answered feedback

Y makes food for the plant through photosynthesis and Z absorbs water for the plant

Incorrectly answered feedback

Y makes food for the plant through photosynthesis and Z absorbs water for the plant

Question 30

https://www.classmarker.com/a//tests/test/?test_id=1841346

ClassMarker - Manage Test
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They reconded their chesrvadions in the 1edie balow, Atick [+ indicatas fhad tha cal part

(a)  Dased on the results abowve, what i the main differnnce batwesn the functions

m

Primary 6 Science » Primary 6 Science (Prelim)
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The shadents obsered ancther Cefl K aa shown bedow,
pert for movenant

(b} State a charactaristic of Call 5 wi
of fving thinge as el X, n mﬁll"hhﬁmmmmgnm

il

Question Type: Essay

Date Added: Tue 26th Oct 2021
Last Modified: N/A
QID#: 29,459,029

Correctly answered feedback

Cell X has a cell membrane and no cell wall and it is just like cell K

Incorrectly answered feedback

Cell X has a cell membrane and no cell wall and it is just like cell K

Primary 6 Science » Primary 6 Science (Prelim) 0 pts

Question 31

The dagram shows two flowers, X and Y, from the st After "
fartilizaton takes place in fower X and a il deveiope, process ) happens,

lcnsier X Merwar Y

{a} LUsing the labeBed paeifs) in the disgram above, axplain what happens during
process | ]|

Question Type: Essay

Date Added: Tue 26th Oct 2021
Last Modified: N/A
QID#: 29,459,040

Correctly answered feedback

The pollen grains from D would and on A and the male reproductive cell would fuse with the female
reproductive cell so that fertilisation can occur
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Incorrectly answered feedback

The pollen grains from D would and on A and the male reproductive cell would fuse with the female
reproductive cell so that fertilisation can occur

Question 32 Primary 6 Science » Primary 6 Science (Prelim)

b) Flowers X and Y contain a lot of nectar. Explain how both flowers are like to be pollinated

Question Type: Essay

Date Added: Tue 26th Oct 2021
Last Modified: N/A
QID#: 29,459,052

Correctly answered feedback

They are likely to be pollinated by insects. The insects would feed on the nectar and some of the
pollen grains would stick on it and when it goes to feed on other flower, the pollen grains would land
on the stigma

Incorrectly answered feedback

They are likely to be pollinated by insects. The insects would feed on the nectar and some of the
pollen grains would stick on it and when it goes to feed on other flower, the pollen grains would land
on the stigma

Qu estion 33 Primary 6 Science » Primary 6 Science (Prelim)

1 Tha graph befow shows the volume of blood sy paits i
| PRl b some of Mehein's h
whEn |9 is restng ared axercising *body

Wishume of blood
piglied per 4
miniile femd)

B :'
lel ﬁn i .

aternach mikincles

Lal  Explain winy more blood is camied o the muscies when Mehin s EaIEisng
125

Question Type: Essay

Date Added: Tue 26th Oct 2021
Last Modified: N/A
QID#: 29,459,168

Correctly answered feedback

more blood containing more oxygen and digested food is carried
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Question 34

Question 35

ClassMarker - Manage Test

Incorrectly answered feedback

more blood containing more oxygen and digested food is carried

Primary 6 Science » Primary 6 Science (Prelim)

b) Based on the graph above, explain why it is not advisable for Melvin to run immediately after having
a heavy meal

Question Type: Essay

Date Added: Tue 26th Oct 2021
Last Modified: N/A
QID#: 29,459,173

Correctly answered feedback

When exercising, less blood is carried to his stomach where digestion takes place so rate of
digestion is slower

Incorrectly answered feedback

When exercising, less blood is carried to his stomach where digestion takes place so rate of
digestion is slower

Primary 6 Science » Primary 6 Science (Prelim)

dard prapaned the sel-ups 1o Fvsstigate tha digestion rale of
L"*“““""'F’“Wﬁeulimufﬁ:g;_ digeation rale of meat oubes as shown below,

— —

—t
']

LIRS

g

Setup A Set-up B
10 g st cube 10 g read cube
+ mm l'ltﬂpi'ﬂl:!!
25 e of oguid ¥ +
25 o of ligued ¥

Jane channesd Fe amownt of livss i ook Sor the rmest cubes 1o be beoken dawn
completaly in ach tast lube. She reoorded her meulls in e inble brloe:

_Sctup = Result -
A | hab was broken oo compleledy after 2 hour
B Il waa braken down com afier 1 hour |
(2} Which variable was changed o par of the expetiment? [11

Question Type: Essay
Date Added: Tue 26th Oct 2021
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Last Modified: N/A
QID#: 29,459,187

Correctly answered feedback

The amount of exposed surface area of meat in contact with liquid X

Incorrectly answered feedback

The amount of exposed surface area of meat in contact with liquid X

Question 36 Primary 6 Science » Primary 6 Science (Prelim) 0 pts

b) Based on the results above, explain how chewing of food affects the rate of digestion

Question Type: Essay

Date Added: Tue 26th Oct 2021
Last Modified: N/A
QID#: 29,459,193

Correctly answered feedback

When chew food, it breaks down the food into simpler substance and it increase the exposed
surface area of the food in contact with the digestive juice and it increased the rate of digestion

Incorrectly answered feedback

When chew food, it breaks down the food into simpler substance and it increase the exposed
surface area of the food in contact with the digestive juice and it increased the rate of digestion

Question 37 Primary 6 Science » Primary 6 Science (Prelim) 0 pts

Iﬁmaﬂm_haar-m the growth of plant X over 5 days. He placed goms saeds of plant X into
& conbainer with mokal cotion wool and recorded b obsarations of the gverage length
ol their shoots and Feols inthe graph below.

Awarage length
[unid]

Tima idays}

fal  Which kne, J or K, represents the growth of f1 roots? Explein youw answer,
(1

Question Type: Essay

Date Added: Tue 26th Oct 2021
Last Modified: N/A
QID#: 29,459,200
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Question 38

X ower Em.

Last Modified: N/A

&

|

ClassMarker - Manage Test

Correctly answered feedback

The root grows first in order to take in water during germination

Incorrectly answered feedback

The root grows first in order to take in water during germination

Primary 6 Science » Primary 6 Science (Prelim)

(ki) Draw a fne graph bedow 1 shaw the change in the mass of seed leaves of plant

i

Mass of saed leaves (g)

Question Type: Essay
Date Added: Tue 26th Oct 2021

wTime (days)

QID#: 29,459,203

Correctly answered feedback

'

Incorrectly answered feedback
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Question 39 Primary 6 Science » Primary 6 Science (Prelim) 0 pts

ii) Give a reason for your answer in bi)

Question Type: Essay

Date Added: Tue 26th Oct 2021
Last Modified: N/A
QID#: 29,459,210

Correctly answered feedback

The seed leaves stores food for the plant and the mass would slowly decrease when it uses the
food and when the true leaves appear, the seed leaves would drop off

Incorrectly answered feedback

The seed leaves stores food for the plant and the mass would slowly decrease when it uses the
food and when the true leaves appear, the seed leaves would drop off

Question 40 Primary 6 Science » Primary 6 Science (Prelim) 0 pts

PAr Tar uvsed dztard 2 fo make sheed

& 0f differenl hickmess in MiE 3
find cut how much Eght can pass thro COOI. M V! 4

gty ugh differant thickness of Materdal # using the sat-
ﬂﬁﬂ '-: dala logger
< C
tarch
Material 2 Ight sanaor

He recordad the results in the table below,

| Thickness of Amount of lght
Material Z {mm) | recorded {unify
1 15
2 0
. 3 - FE
| 4 | 0

i

(@i} M Tan has a fow sheets of Mabsrial 2 thal are Fmm thick. He wanis ta uda it fo
wrap e ouler wall of a claar plastic water baoltle 5o that no light can anter it

Based on lhe above msults, wisd i i
Enu-qu' EMMlmwﬂlmD”‘wﬁ

Question Type: Essay

Date Added: Tue 26th Oct 2021
Last Modified: N/A
QID#: 29,459,213

Correctly answered feedback

2 sheets

Incorrectly answered feedback
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2 sheets

aii) State another important property of Material Z that will make it suitable to be used to wrap the
bottle. Explain your answer

Question Type: Essay

Date Added: Tue 26th Oct 2021
Last Modified: N/A
QID#: 29,459,223

Correctly answered feedback

Flexibility. If he wants to wrap it, it has ro be flexible so that it can cover the whole plastic bottle

Incorrectly answered feedback

Flexibility. If he wants to wrap it, it has ro be flexible so that it can cover the whole plastic bottle

The diagrasn betow shows @ parking lol ssnser i 8 ¢a i i
e roark. Whan oo car bs pakad in
Fnluﬂwmalbghtndb:amr lisens graan. Wthen a car fa padoed in the ki, e Ilgrtpramcﬂb;
e P, :

—E’U——w:m

gresan lght
inafi=ior

b :
b uE:rplurl r:;r Ihe parkirg lot ssneor warks to show whsan the lol is pociipied -F1]u

Question Type: Essay

Date Added: Tue 26th Oct 2021
Last Modified: N/A
QID#: 29,459,235

Correctly answered feedback

The car is opaque and it does not allow any light to pass through, hence, when the light sensor
does not detect any light from the light source due to the car it would turn red, but when the light
sensor detects light from the light source it would turn green

Incorrectly answered feedback

The car is opaque and it does not allow any light to pass through, hence, when the light sensor
does not detect any light from the light source due to the car it would turn red, but when the light
sensor detects light from the light source it would turn green
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Question 43

Match the options below:

Kate recorded the slates of fhroe substances J, K and L at fhes ciflarant temperalures
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in-the table balow,
Subsis State of substance al
o - 50°C 100
L4 Bolid | liquad gas
solld solid lhguad
L |, Squid _g_‘is gEﬂ
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Question 44

b) What is the difference between melting and evaporation?

Essay

Tue 26th Oct 2021
N/A

29,459,246

Correctly answered feedback

Incorrectly answered feedback

45
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(&)  Arrange ihe thres substancas in ordar o mieHing point, slarling from the lowesl.

11

Primary 6 Science » Primary 6 Science (Prelim)

melting is when a solid becomes a light but evaporation is when liquid become gas

melting is when a solid becomes a light but evaporation is when liquid become gas
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Kate poured substance J (in liguid form) into two identical cups, & and B, She
placed each cup in two rooms, esch ot diferent temperatures. Aflar some fime,
she obsenwed mone waler droplets forming on cup Adhan B s shown telow,

Suggest a reasan for Kate's sbservaion. Explain YOLF #nEwer. [2]

Question Type: Essay
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Last Modified: N/A
QID#: 29,459,264

Correctly answered feedback

The temperature of the room where cup A was placed was higher. The more warmer water vapour
in the surrounding air came into contact with the cooler surface of the cup, lost heat and condensed

to form more water droplets

Incorrectly answered feedback

The temperature of the room where cup A was placed was higher. The more warmer water vapour
in the surrounding air came into contact with the cooler surface of the cup, lost heat and condensed

to form more water droplets

Primary 6 Science » Primary 6 Science (Prelim) 0 pts
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Correctly answered feedback

— 0% ﬂ+

Incorrectly answered feedback

— 0% ﬂ+
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she cycles at night

Essay

Tue 26th Oct 2021
N/A

29,459,282

Correctly answered feedback

the bulbs would be brighter

Incorrectly answered feedback

the bulbs would be brighter

Question 49

ClassMarker - Manage Test
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ii) Suggest another advantage of the arrangement of the two headlights in (i) that would help Betsy
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Correctly answered feedback

frictional force and gravitational force

Incorrectly answered feedback

frictional force and gravitational force

Question 50 Primary 6 Science » Primary 6 Science (Prelim) 0 pts

b) Explain why the time taken for the wooden block to move across distance D on the different surfaces
is different

Question Type: Essay

Date Added: Tue 26th Oct 2021
Last Modified: N/A
QID#: 29,459,305

Correctly answered feedback

some of the surfaces could be rougher and it increases friction between the surface and the
wooden block

Incorrectly answered feedback

some of the surfaces could be rougher and it increases friction between the surface and the
wooden block
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Correctly answered feedback

surface Z, as it took the longest amount go time for the wooden block to travel distance D so it
produced the most amount of friction for the car to slow down before the traffic light

Incorrectly answered feedback

surface Z, as it took the longest amount go time for the wooden block to travel distance D so it
produced the most amount of friction for the car to slow down before the traffic light
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Correctly answered feedback

Gravitational potential -> kinetic -> kinetic -> sound

Incorrectly answered feedback

Gravitational potential -> kinetic -> kinetic -> sound

Qu estion 53 Primary 6 Science » Primary 6 Science (Prelim)

b) If the moving cart P was fully loaded with coals, would the distance moved by cart Q be longer or
shorter than 4 metres? Explain your answer in terms of energy conversion

Question Type: Essay

Date Added: Tue 26th Oct 2021
Last Modified: N/A
QID#: 29,459,322

Correctly answered feedback

The distance moved will be longer as cart P will have more mass increasing the gravitational
potential energy which will be converted to more kinetic energy

Incorrectly answered feedback

The distance moved will be longer as cart P will have more mass increasing the gravitational
potential energy which will be converted to more kinetic energy
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Correctly answered feedback

They both decreased and reached room temperature

Incorrectly answered feedback

They both decreased and reached room temperature

Question 55 Primary 6 Science » Primary 6 Science (Prelim) O pts

b) Explain why the temperate of water in set-up decreased at a faster rate.

Question Type: Essay

Date Added: Tue 26th Oct 2021
Last Modified: N/A
QID#: 29,459,333

Correctly answered feedback

Material B is a good conductor of heat and it gained heat from the hot water faster and the
temperature of the water decreased faster

Incorrectly answered feedback

Material B is a good conductor of heat and it gained heat from the hot water faster and the
temperature of the water decreased faster
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C) Material A in set-up X has small air spaces and is used to make a cooler box to store frozen food.
Explain why material A would help keep the frozen food cold for a longer period of time

Question Type: Essay

Date Added: Tue 26th Oct 2021
Last Modified: N/A
QID#: 29,459,338

Correctly answered feedback

Air is a poor conductor of heat and it would slow down heat gain from the frozen food to the
surroundings

Incorrectly answered feedback

Air is a poor conductor of heat and it would slow down heat gain from the frozen food to the
surroundings

Question 57 Primary 6 Science » Primary 6 Science (Prelim) 0 pts
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Correctly answered feedback

A magnet. The ball stopped moving when it hit A as A attracted the steel ball

Incorrectly answered feedback

A magnet. The ball stopped moving when it hit A as A attracted the steel ball

Question 58 Primary 6 Science » Primary 6 Science (Prelim) 0 pts
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Correctly answered feedback

As the amount go elastic spring force increases, the distance travelled by the ball increase

Incorrectly answered feedback

As the amount go elastic spring force increases, the distance travelled by the ball increase

Question 59 Primary 6 Science » Primary 6 Science (Prelim) 0 pts
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Last Modified: N/A
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Correctly answered feedback

spring X. The ball traveled a longer distance when the handle were pulled back the same distance
and spring X has more elastic spring force so it pushed the rocket further

Incorrectly answered feedback

spring X. The ball traveled a longer distance when the handle were pulled back the same distance
and spring X has more elastic spring force so it pushed the rocket further
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